NO20240316
20245 3H16H

15 BIUZEZREENARBEBHERE

BtA: 09:30 #53R: 12:00

LEEERHEE

IR | BEH | KG| B | (AA)EFR | weight B B | (EA)EFR | weight B tE o

1 3 51 | B FeR & R, 50.63 #z B =AW 50.69 A3 EE 0:3 —RHTE EFB
2 54 | ZE REAE LR B HiEE =45 REREE

3 3 54 | B 1ER 53.7 EWME i MES 53.43 Get Hit E—EATKO Ak
4 3 48 | B RRE 47.6 Get Hit B FRE I 47.43 25 0:3 —HHE ERH
5 3 57 | B ERE 56.82 5ig 5 AN CE: ] 55.11 G Power E_E4 TKO A58
6 3 60 | B RiES 58.25 G Power | B HIER 59.54 Get Hit E_EATKO EF
7 3 60 | B AR 58.08 ] R wmaE 58.19 Get Hit E—EATKOLAB
8 3 60 | B RER 59.84 g B CY 58.61 nEHE E-EATKOESE
9 3 60 | B% REH 59.27 Get Hit M ) 60 24 E=EATKOA B
10 3 |63.5 B MEENR 62.32 Get Hit 2 RHETT 63.22 T4 1:0 DEHE OHB
11 3 |67 | B EHE 62.65 2 & e E] 66.62 518 =B S TKOAL 5 1
12 3 67 | B g iR 66.73 Get Hit | M SRIRE 66.08 T E—EATKOEH B
13 3 67 | B g a 66.05 tmma R ® 19 66.15 ge E-EATKOL B
1| 3 |71| ® W2 70.52 2 B BHT 7061 | mdsE 2:0 DUIFHIE LI
15 3 | 71| B |EE 69.5 | fErsp | M E B 70.93 ] E-EATKOL B

HRPEZBRS




NO20240316 tl: % lzl‘:ln: % #E % %

2024% 3816H
15 BEIUEZREFEIABEREHE
BtA: 13:00 #5&: 14:30

IR EEH | KG | B | (A®\)EFHR | weight EfiI B | (EA)EFR | weight B tE5
- 3 54 | B Miats 58,25 F i B ERE15 53.61 Bi% 0:3—RHTE EFB
; 3 54 | B ARt R 53.93 EXE+ B &R 53.84 8 i E_EATKO 58
; 3 60 4 RS 58.98 AEHEZ ] Bz 58.17 TEhHhE 3:0 —HHE LK
3 57 | B 1253 56.76 REXEH 3 HRE 56.24 BZEpg BE=EE TKOAH BB

IR | EEH KG | BH | (IA)EFR | weight EfiI B | (EA)EFR | weight B nrs)

60 | B RE5 59.48 RiERT 8 REF 59.3 EESH EEE TKOL A
= 3 63.5| B Rt X 62.71 AERET B ZHE 61.48 BT 0:3 —HHE ER
¥ 3 |57 | B BFE 52.84 & B B1E 56.57 | BMS E_ES TKOEHB
“ 3 60 | B ER & & 59.72 ge B NP 59.42 RERE 0:3 —RHE EXLB

3 54 B Eihs 50.84 BYIEH B BIER 53.05 RESH 1:2 DIRHIE EFHB
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NO20240316 tl: % lzl‘:ln: % #E % %

2024% 3816H
15 BEIUEEZREFEIABEEHE
BtA: 14:40 #53%: 16:30

IR | B | KG | B | (AA/)EFR | weight B B | (EA)EFR | weight B tE 2
16 3 71 5 HEfhR 70.46 EWE B RES 70.93 tmma 0:3 —HHE EFB
17 3 71 B 2FE 70.95 tmma B B 70.8 EE BE_EATKO AR
18 3 75 | B B 1t 12 74.2 Ekki B BEIE 73.67 EWE B-EATKOLL S
19 3 75 | B FIEMR 73.9 EWME B BRI 74.36 Z2+m 0:3 —RHAE ELH
20 3 75 | B R 73 73.4 B:—T B R 78 X2 74.16 EWE 0:3 —HHTE ERLM
21 3 80 | B & 73 3 79.88 EE B BNt 79.15 Get Hit BE=EATKO EH B

AR PEZBES



NO20240316
20245 3H16H

1 BIUZEREEDNABEBHERE

BtA: 16:40 #E%: 19:35

LEESRBES

R BEEH | KG| B | (AA)EFR | weight ==X v BEEY | (EA)EFR | weight B8 (if [Ars)
S 3 54 | B s & EE B BRES 53.58 B3 0:3 —HHIE ELR
22 3 80 | B BFR 78.88 EWE B B & ET 79.99 kiERS 3:0—HHE L/
23 3 80 | B 3R R 1R 79.2 21w B WREE F+ 77.93 EWE 3:0 —HHE LFHE
24 3 80 | M wme 78.68 TEeHE [ #EE 79.13 E3E 3 E=-EATKO EHB
25 3 75 | B HrE 74.23 Get Hit B ARt 4 73.34 EHE 0:3 —RHATE EXLE
26 3 86 | M #1815 84.55 2R B BRISEE 106.8 R E—CATKOESLB
27 3 86 | B fo] ¢ 32 85.43 20 i e 5 4 84.93 B Gym FE=ZEATKOEA R
28 3 922 | B (3= ;1 88.62 TEHE g S 90.33 G Power E_LEATKOLAH B
29 3 922 | W BIRE 87.2 G Power B P8 b 89.45 EWE FE=ZEATKO EHB
30 3 +92 e B E BEi® 95.46 EHEE | INSEFNRES BECLSE
31 3 +92 B SRE 99.61 G Powe B BRIETE 127.82 BuEs E—EATKO EAHB
32 3 +92| B RR IS 5E 106.8 T 15 B 5T 92.95 =F =1 0:3 — AT EXLB
33 3 +92| B R 125.75 EHE B g 91.98 | 1T BEEAE EZEATKO A5k
34 3 +92 | B B8 104.51 R L =E2E 99.8 B 3:0 —RATE LA B
35 3 60 | B HIEHR 59.54 Get Hit L BLZ 58.85 TEhHE 3:0 —RHE ALk
36 3 71 B MR 70.85 Get Hit B =i 70.93 g2 1:2 ZRHE EFR B

3 75 | B BEA 77.71 EWE B L2 74.34 TR FE_EATKOL AR
RRPEZBRT




